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Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any five from the following: 2x5=10
@l #Hofe 2w Ted we ¢

1)  d-orbitals can accommodate maximum ten

electrons— Explain.
-0 A 711G BreTRGT AFCS 2MCE— I 41 |

ii)  Sn*'isareducing agent while Pb*" is an oxidising

agent— Explain.
Sn?* s @<y € Pb*" @< @<j— iyl 4 |
iii) Arrange the following in the basicity order:
FRASROR T SPACH AN 2
CH\NH,, CHN, CH,CN
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Vi)

vii)

Describe the difference of homolytic and
heterolytic bond breaking with example.
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Write the structures of D and L glyceraldehyde.
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Which one is more reactive towards Snl

reaction and why?

Sn1 ffem @D @ i 932 @2
CH,OCH,CI, CH,CH,CH,Cl

How will you convert ethylene to acetylene?

ofi e A @R weires Facae

Answer any two from the following: 5x2=10
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Electron affinity of carbon is greater than that
of nitrogen— Explain. Between © and ¢ bond
which one is stronger? Explain with an
example. In which of the following ions Bohr’s
theory is applicable?

H*, He", Li* 2+2+1
FIAT ZERG SAfeE TBGICTE gaven
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H*, He", Li*
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iii)

3. Answer any two from the following:

What do you mean by Racemic mixture? Give
an example. Lactic acid is optically active but
propanoic acid is optically inactive— Explain.

What is homomer? 1+1+2+1

@ Nue To1re F @Re O 3 TuiEd wie |
oS SHIFTE ST Al 58 ez sritre
SR Wig— i 9 | IR Fi 2

Distinguish between Bohr’s model and

Sommerfeld’s model in connection with the
structure of atom. Write the electronic

configuration of Cr. 2+2+1
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10x2=20
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a)  Explain the significance of four quantum

numbers. 4
SR FIIGIN AR Sl A7y 4 |

b) Describe the differences between

electronegativity and electron affinity.

4
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c)  Arrange the following in the acidity order.

2
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H,PO,, H,PO,, H,PO,
Convert: 2x5=10
AT S ¢
a)  Ethylene to Ethylene Glycol
b) Nitro Benzene to Phenol
c) 2-Butyne to 2-Butanone
d) Aniline to Benzoic Acid
e) Benzaldehyde to Cinnamic Acid
Write short notes on: 2x5=10
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a) Syl reactions
b) EIl reactions

c¢) Enantiomers

d) HSAB Principle

e) Disproportionation and

Comproportionation Reaction
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